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Bingo dot the
apple(s) on
the tres.

There are zero apples on the apple tres.
0123490678910

Circle.

Tally.

There is one apple on the apple tres.
0123490678910

Circle.

Tally.



There are two apples on the apple tres.

2 o 012390676910
Tally.
Bingo dot the
apple(s) on
the tree. -
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There are thres apples en the apple tres.
?) e 0123906769710

Tally.



There ars four apples on the apple tres.

LI o 012390676910
Tally.
Bingo dot the
apple(s) on
the tree. = B -
N

There are five apples on the appls tres.
5 o 0123906786970

Tally.



There are six apples on the appls tres.

6 e 012345678910
Tally.
Bingo dot the
apple(s) on —
the tres. K
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There are ssven apples cn the apple tres.
7 e 0123906769710

Tally.



Bingo dot the
apple(s) on
the tres.
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There are eight apples on the apple tres.
0123490678910

Circle.

Tally.

Thers are nine apples on the appls tres.
0123490678910

Circle.

Tally.



There are ten apples on the appls tres.

/]O o 012390676910
Tally.
Tippis! Look at me. [ am years

old Dot that many apples on your tree.

Gre. 0123906789710

Tally.





